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UNICITY THEOREMS FOR MEROMORPHIC OR
ENTIRE FUNCTIONS

By HIDEHARU UEDA

1. Let f and g be meromorphic functions. We denote the order of f by p;.
In what follows we use the notation f=a—g=a in the following sense: Z, is a
zero of g—a of order at least v(n) whenever Z, is a zero of f—a of order v(n).
If % is a positive integer or oo, let E(a, k, f)={z=C:z is a zero of f—a of order
<k}, where C is the complex plane. If a belongs to C=C\U {c0}, we denote by
fiy(r, a, f) the number of distinct zeros of order<k of f—a in |z| =7 (each zero
of order=*% is counted only once irrespective of its multiplicity). And we set

T ﬁk(t, a, f)—ﬁk(oy a, f)
0 t

Nu(r, a, f)ZS dt+7,0, a, f)logr.

Further we denote by n{®(r, a; f, g) the number of common zeros of order=<*% of
f—a and g—a in |z| <r, and we set

" . ) .
NP(r, a3, = W0 ¢3S D70 83 8) 1y g, a5, ) logr

0 t

In this paper we shall prove some unicity theorems for meromorphic or entire
functions.

2. Gopalakrishna and Bhoosnurmath have proved the following theorem in [1].

THEOREM A. Let f and g be transcendental meromorphic functions. Assume

that there exist distinct elements a,, -+, am 1 C such that E(a,, k., f)=E(a,, k., g)
for 1=1, -, m; where each k, 1s a positwe wnteger or o with k= -+ Zkn, and
{B}T satisfies
no k, ky
Z Al Tl 2

Then f=g.

From Theorem A several consequences including a theorem of Nevanlinna
[4] are deduced.

THEOREM A,. Let f and g be transcendental meromorphic functions. If there
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exist distinct seven elements ay, -, a, wn C such that E(a,, 1, f)=E(a, 1, g), then
=g

THEOREM A,. Let f and g be transcendental meromorphic functions. If there
exist distinct six elements ay, -+, ag in C such that E(a,, 2, f=E(a, 2, g), then
/=g

THEOREM A;.  Let f and g be transcendental meromorphic functions. If there

exist distinct five elements ay, -+, as mn C such that E(a,, p, f)=FE(a,, p, g), where
D is a positwe integer=3 or oo, then f=g.

We first remark that the assumption on the number of distinct elements
ay, -, am in C satisfying E(a,, k., f)=E(a., k., g) cannot be improved in the
above each theorem A, (1=1, 2, 3). This fact is clear in the case of Theorem A,.
In order to see this in the cases of Theorems A; and A, we may consider the
following examples. Set

e=gaw=|"A—1rar (n=3,0).

Then ¢(w) maps the unit disc onto an equilateral triangle z,z,2;, where z;=g,(1),
z:=¢s(w), and z;=¢;(»*), where w is a cubic root of 1. And ¢,(w) maps the unit
disc onto a square z,2,z;2z,, where z:=¢,(1), 22=¢,(1), zz=¢,(—1), and z,=g¢,(—1).
The inverse function of z=g¢,(w) (n=3, 4) can be analytically continued over the
whole plane as a one-valued meromorphic function by Schwarz’s reflection principle
and the resulting function w=jf,(z) is doubly periodic. In the case of n=3, we
put a,=1, a,=w, a;=0? a,=0 and a;=oo. Then all the zeros of f—a, 1=1, 2, 3)
are taken with multiplicity 3. In the case of n=4, we put a,=1, a,=1, a,=—1,
a,=—1, a;=0 and ag=co. Then all the zeros of f—a, (1=1, 2, 3, 4) are taken with
multiplicity 2. Therefore if we set gy;=wf; and g,=1-f,, we have E(a,, 2, f;)=
E(a.,, 2, g;) =1, ---, 5) and E(a,, 1, fo)=E(a,, 1, g,) =1, ---6). And it is clear

that 32 3(a., f)=330(a,, g)=0 and 3 d(a,, =3} 3(a., g=0.

Secondly we note that in Theorem A, the Nevanlinna deficiencies of fand g
are not taken into consideration. With respect to this point we shall prove

THEOREM 1. Let f and g be transcendental meromorphic functions. Assume
that there exist distinct elements ay, -+, am 1n C such that E(a,, k., f)=E(a,, k., 2)
for 1=1, ---m; where each k, 1s a positwe nteger or oo with k= - Zky, and
the sequence {k;} 7 satisfies
kl kl

3 —2=<
D N R

Then the nequality:

be_a ks
Sy [RR)

* 3}, min (3(a,, /), 8an, )>{2+ 717 —2 4

1=1
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wmplies f=g. Especially, 1f the right hand side of (*) 1s equal to zero, “min” 1n
the condition (*) can be replaced by “max”. Further 1f both p; and p, are finite,
“6” wn the condition (*) can be replaced by “4” (Valiron deficiency).

From this, we deduce several consequences which include the following three

results.
1° Let f and g be transcendental meromorphic functions. Assume that there

exist distinct six elements a;, -, a¢ in C such that E(a,, 1, f)=E(a,, 1, g) and
33 max ((a,, /), d(a,, £)>0.

Then f=g.
2° Let f and g be transcendental meromorphic functions. Assume that there

exist distinct five elements ay, -, a5 in C such that E(a,, 2, /)=E(a,, 2, g) and

él max (d(a,, 1), 6(a,, gH>0.

Then f=g.
3° Let f and g be transcendental meromorphic functions. Assume that there

exist distinct five elements a;, ---, a5 in C such that E(a,, 1, /)=E(a,, 1, g) and
3% min (3(ay, 1), 3(a,, g)>1.
Then f=g.

COROLLARY 1 (of 3°) Let f and g be transcendental entire functions. Assume
that there exist distinct four complex numbers ay, -, a, such that E(a, 1, f)=
E(a., 1, g) and

3 max (3(a,, /), d(a,, g)>0.

Then f=g. In the case of py, pg<co, “0” in the assumption can be replaced by
“A”.

COROLLARY 2 (of 3°) Let f and g be transcendental entire functions of
order>1/2. Assume that there exist distinct four complex numbers a,, - a, such

that E(a,, 1, f)=E(a,, 1, g). Further assume that all the zeros of f—a, lie on the
negative real axis and that they have a finite exponent of convergence. Then f=g.

Proof of Theorvem 1. First suppose that a;, -, a, are all finite. By the
second fundamental theorem, we have

@21 (m=2){T(r, )H+T(r, g)}éi {Nr, a,, H+Nr, a,, @)} +Sr, H+S, g,

where S(r, f)=0o(T(r, 1)), S(r, @)=0o(T(r, g)) as r—oo outside a set E of finite linear
measure. For brevity, we put S(*)=S(r, /)+S(r, g). Here we use the following
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obvious inequalities :

ki]\-/ki(ry s, f)+N(T: a., f)
kit1

These inequalities hold also when we replace f by g. Substituting these into (2.1),
we have

N, a,, /)£

(=1, -, m).

@2 m-DITC, P10, ) SB[ (T, ap N+FG, a0 2)

ki +1
5T S NG, ay NG, @ 9} ]S0)
2k, o
= klk Z=)N<kt>(r a.;f, g)-I-E 7 +1 (NG, a,, [)+N@, a,, ) +St),

where we used the fact that k,/(k,+1)= - Zkn/(knt+l) and N (7, a,, f)=
Nk,;(r; (2% g):Nf)kt)(r, a ;f) g)-

Now suppose that f=£=g. For a=C, each common zero of f—a and g—a isa
zero of f—g. Since a,, -, an, are all distinct, we have

@3 S NE(r, a5 f, SN, 0, f=@)=T(r, f—g)+0)
<TG, N+T(r, 2+0D).

From (2.2) and (2.3), we obtain

2%,
@y (n2= )T HHTG, 0)
=3 g NG, @ NG, 0, 2 +S0).

By the definition of the Nevanlinna deficiency, for any ¢>0, there exists r, (>0)
such that r=r, implies N(r, a., f)+N(r, a,, 8)<(1—d(a,, f)+e)T(r, )+1—d(a,, g)
+&)T(r, g) =1, ---, m). Hence we have from (2.4)

2k, 1
@5) (m—2= 5~ Z 5y T, DT, 8)

(0(a,, f)—e)T(r, /)+(0(a,, g)—e)T(r, g)}

<
bl =S.

+3{
Here we note that

o 2% a1 m R B
m=2= Ezk,-ﬂ“(z?zkiﬂ) Tk =0

and the second term of the left hand side of (2.5)=
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{ﬁfi min (3(a,, /), a,, £)—mef(TG, H+T(r, g).

Thus as r(e E)—oo we have

@fk%_ kﬁl —2)+ klil 3 min (3(a,, ), a,, g)—me=0.
This inequality contradicts the condition (*). Hence we have f=g.

Suppose now that some a, is co. Then let a be a complex number different
from a,, -+, an. Then (a;—a)™?, -+, (an—a)™! are all distinct and finite. If we
put F=1/(f—a) and G=1/(g—a), we have E(a,, k., /)=FE(a,, k,, g9)=E{(a;—a)™?,
k., F)=E(a.,—a)", k, G), and d(a,, /)=6(a;—a)™", F), 6(a,, g)=0((a;—a)", G)
(i=1, ---, m). Hence f and g satisfy the assumptions in Theorem 1. & F and G
satisfy the assumptions in Theorem 1 when we replace a by (a;—a)™'. Thus by
what we have proved above, F=G, that is, f=g.

Next, we consider the case of

no k, ki o
Z, i+l ki+1 2=0.
In this case we have

1 _ T, /)
R P L A .
K=TG, o <K (r€E, r: large enough),

where K is a positive constant (>1) depending only on m. This is clear if f=g.
If f#g, we note that the following inequality holds: For any positive number
t<1, there exists r, (>0) such that r=r, implies

(2.6) ﬁn_‘, N§o(r, a,; f, @>c{T(r, H+T(r, g)} (r& E, v : large enough).

1=1

If this were not the case, we would have a positive constant z,<1 and a monotone
increasing sequence {r,} tending to co as n—oco such that{r,} "E=¢ and

élj\f({)kz)(rn, a.; f, @)=t {T(rn, )+T(ra, )} .

Substituting this into (2.2) we would have instead of (2.5),

2T0k1 m 1
T 2T (T DT, )

n (0(a,, [)—e)T(ry, )+(0(a,, g)—e)T(r,, g)

(-

=5(ra).

However, since m—2—270k1/(k1+1)——f}l(ki+l)‘1>0 in this case, the above in-

equality is absurd. Hence (2.6) holds. From this we obtain
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mT(r, 1), mTr, 2 I NE, ausf, 9> (T, H+T(r, &) (= E).

This implies

T T(T, f) m—7T .
m—z  T(r, g < e (re E, r: large enough).

Now, in order to see that “min” in (*) can be replaced by “max” in this case,
we may prove that

3 min (3(a,, 1), d(a,, g)=0= 3 max (3(a., £, ¥(a., g)=0.

1=1

Assume that there occur both

3% min (8(ay, f), 8(a,, g)=0

-
-

and

> max (6(a,, £), 6(a,, 2)>0.

o
-

For example, we may assume that d(a,, /)>0=0d(a;, g). In this case, we have
by (2.5),
1

(re E, r: large enough).

Taking r (&€ E) large enough, { } >0 holds. Dividing the both hand sides by
T(r, g), we have
mo 1
= T, f) _ 2 bl
e T(r, 8) = 0(ay Q_s m o1
ki+1 =1 k1

Since ¢}is arbitrary, this implies

lim ;‘(r, 7 o,
r2e T(r, g)

which is a contradiction.
Finally we consider the case of

—2=0

1=2 k@’!‘l kl-l—].
and py, pg<co. In this case, we have EF=¢, and

2k, &k
k1+l _121 kz_}"l '

m—2—
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Hence, if f#£g, we have by (2.4),

2k,
k1+1

WG, 4T, @) =32 NG, @y DN, 0y D14SO)

(’"—2_ 2 k1

<3 L 1T6, DTG, ) +S=(m—2— 2B T, HATE, 2 +50).

1=1 k;‘!‘l kl“]'l
Thus N(r, a,, /)~T(r, f) and N, a,, g)~T(r, g) (r—co) (i=1, ---, m). These
imply 4(a,, f)=4(a,, g)=0 (=1, ---, m). This completes the proof.

Proof of Corollaries 1 and 2. From 3°, in this case,
33 min (3(a, £), 3a,, £)>0

implies f=g. However, as in the proof of Theorem 1, we can replace “min” by
“max”. And further if p;, p,<oo, we can replace “6” by “4” as in the proof of
Theorem 1. The details will be ommitted.

Now, we shall prove Corollary 2. If p,=oco, we have by the assumption
d(ay, f)=1. Hence from Corollary 1 we have f=g. Let p be the genus of the
canonical product formed with the sequence of zeros of f—a;. If 1<p;<co and
p=1, a well known theorem due to Edrei and Fuchs [2] implies d(ay, f)>0.
Hence from Corollary 1 we have f=g. If 1<p,;<co and p=0, we have d(a,, f)
=1. Hence we again have f=g. If 1/2<p,=1, a theorem of Shea [8] yields
A a;, f)=l—sinmp;>0. So if p,<co, Corollary 1 gives this proof. However if
pg=0o0, then d(a;, g)=1. This also yields f=g by Corollary 1. This completes
the proof.

3. Nevanlinna [4] proved the following result.

THEOREM B. Suppose that f and g are transcendental meromorphic wn the
plane and let {a}t be four distinct elements in C. Then if f=a,—g=a, 1=
1, 2, 3, 4), f=g, or g=S(f), where S(z) is one of the linear transformations which
fix two elements in {a;}t and permute the other two elements in {a;}i.

In this section, we shall improve the above theorem in the case that fand g
are entire functions. Our results may be stated as follows.

THEOREM 2. Let f and g be non-constant entire functions such that =02
g=0 and f=1Zg=1. Further assume that there exists a complex number a
(#0, 1) satisfying E(a, k, f)=E(a, k, g), where k is a positive integer (=2) or co.
Then f and g must satisfy one of the following four relations.

i f=g (i) (f—%)(g—%)z% (This occurs only for a=1/2.)

(iii) fg=1 (This occurs only for a=-—1.)
@iv) (f—Ig—D=1 (This occurs only for a=2.)
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THEOREM 3. Let f and g be non-constant entive functions such that =02
g=0 and f=12g=1. Further suppose that there exists a complex number a (0, 1)
satisfying f=a—g=a. Then f and g must satisfy one of the following four
relations.

@ f=g

(ii) f=e*+a, g=(1—a){l+ae*} (a 15 a non-constant entire function.)

(iii) fg=1 (This occurs only for a=—1.)

(iv) (f—IXg—1)=1 (This occurs only for a=2.)

We shall prove Theorems 2 and 3 from the following result.

LEMMA. Define f as (3.1) with two non-constant entive functions § and 7.

1—e?
1—e"

3.1 /=

Then 1f f 1s a non-constant entire function, for any complex number a (#0, 1),

_— N(?’, a, f)

where E 1s the set of finite linear measure depending only on f.

Proof. The proof proceeds in two stages. In the first stage, we prove under
the assumptions of the lemma,
— N(r, a, f)

3.3) lim

A >0 (aeC—A{0, 1}).
r<E ’

We assume (3.3) to be false for some a (#0, 1) and seek a contradiction. This
assumption implies that f has many zeros. And we note that the following in-
equalities hold :

B B
(3.4) 2<lim m(r, er) ~Tim m(r, er)
T2 m(r, e) T2 m(r, e)

To prove the first inequality, we make use of the argument of the impossibility
of Borel’s identity. The detail is as follows. In view of (3.1) we have ef—fe’
+7=1. Put ¢, =ef, p,=—fe¢" and ¢;=f. Then ¢;+@,+¢;=1, and o+ + 05
=0 (n=1, 2). Further put

1 1 1 / /
§0§ ©2 (P;/; ©s
(3.5) A=\ oi/o1 03/ps ©il@s |, A=

©5/0s 05/ 0s
ol /oL @502 05/ @5

Assume that 4=0. In this case, we have 4’=0. This implies ¢,=Cq,+D (C, D:

constants), i.e.,, —fe'=Cf+D. Since f is entire, C must vanish. Hence f=—De¢’

(D+0). This contradicts our assumption. So, we deduce 470. In this case, we
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have from (3.5)
(3.6) p=ef=4'/4.
Thus
@7 mr, e)=mr, 4)Fmlr, 47)+0N)=m(r, 4')+m(r, 4)+N(r, oo, 4).

Here we estimate m(r, 4’) and m(r, 4). From (3.1) we have N(r, 0, f)=N(r, 1, e?)
—N(@r, 1, eN=0. This yields m(r, e#H)=1—o(L)m(r, ") (r&E, r—o0). Hence
m(r, ) =m(r, ef)+m(r, )+0Q)=2+o(L)m(r, ef) (r& E, r—0), and m(r, po)=
mr, f)+m(r, e)+O01)=ZB+oL)m(r, ef) (r& E, r—o0). Thus m(r, 4)=0(og rm
(r, ef)) (r& E, r—o0) and m(r, 4)=0(og rm(r, ef)) (r& E, r— c0). Substituting
these into (3.7) we deduce

(3.8 N(r, oo, H=A—o(L))m(r, e?)  (r&E, r — ).

However direct computation of 4 shows that N(r, co, /)<2N(r, 0, f). It follows
from this and (3.8) that 2N(r, 1, ef)=(1—o(1)m(r, ef)+2N(r, 1, ¢"). From this we
easily obtain

- s
fim T eﬁ) g%.
rzg m(r, ef)

This proves the first inequality of (3.4). Next, to prove the last inequality of
(3.4), assume that this is not the case. Then there exists a sequence {r,}TC
(0, ©0)—E tending to oo such that

M(ra, €f)
n—e M(¥n, €)

In view of (3.1) we have

l—a—ef+ae’  F2)

3.9 fra=TT =

Then using a result of Nevanlinna [3, p 47], we have
M, e)S Ny, 0, ef)+N(ry, oo, e#)+N(ry, 0, F)+S(r, ef)
=N(rs, 0, F)+S(rs, ef)=A4+o)m(r,, ef).  (n— )

This shows that N(r,, 0, F)=14o0(1)m(r,, ) (n—o0). Hence N(r,, a, f)=
N(ry, 0, F)—N(r,, 1, eN=0+0(1))m(r,, ef) (n— o). On the other hand, we easily
obtain m(r,, f)=1-+o(1)m(r,, ef) (n— o0) from (3.1). Thus

N(ra, a, )

lim =1,

n-o m(rn) f)
a contradiction. This proves the last inequality of (3.4).
Next, we observe the following equality :
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m(r, ef)
oo B-ry — ¢
rae i, eF77)

(3.10)

By the second fundamental theorem, we have

N, 0, f)
m(r, é{ }-I—N(r, a, [)+N(r, oo, f)+S, f).
N(r, 1, f)

Hence by our assumption we deduce
NG, 0, /) o Now L f)

lim = - =1.
me mr, f) ree m(r, f)
Thus
. N(V, 0» f)_N(ry 1: f) ERT _[V(?’, ]-, eﬁ)-—-N(r’ ly eﬂ"?’) .
im mir, ) =lim e, ) =0.

T&E
However, since m(r, ef)+m(r, e")+01)=Z(3/24+o(L))m(r, e#) (r& E, r— o), we have
m N(?’, 1) éﬂ)—N<?’, 1; eﬂ-T) —

li
e mir, ef)
Therefore (3.10) follows.

Now, from our assumption, (3.9) and (3.4) we deduce (1—o(1))m(r, e )ZN(r, 0, F)
=(1+oW)mlr, e+o(mr, )=~1+o1)m(r, &)+oim(r, ef)) = 1+o1)m(r, ) (re
E, r—00). This implies

0.

3.11) N(r, 0, F)=1+o(1))m(r, e") (re E, v — o).
Then, in view of (3.9), (3.4), (3.10) and (3.11), we have
m(?’, F)éN(rr 07 F)+N(7: oo, F)+N(T, 1__(1) F)'“N(T, O.v F’)"‘_S(?", F)

=(+oll)on(r, NG, 0, ¢)=N(r, 0, ¢ T—T)+S(r, F)
=(+oW)m(r, eN+1L+oL))ym(r, ef7)—(1+o1)m(r, e?7)
+o(m(r, ef)+ml(r, e")

=1+oL)m(r, e)+o(m(r, e ))4-o(m(r, ef)+m(r, ")
=+oWm(r, &) (& E, r—o0).

It follows from this and (3.11) that

(3.12) m(r, F)=(14o1))m(r, e’).

On the other hand, we deduce from (3.10) and (3.4)

(3.13) m(r, FY=(1—o(W)m(r, ae’—ef)=(1—o(1))N(r, 0, ae’—e?)
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=1—o(1))N(r, a, efF")=1—o(1))m(r, e#7)
=(1—oW)m(r, f)=C2—o))m(r, &)  (r&E, r — o).

(3.12) and (3.13) lead to a contradiction. This proves (3.3). In the second stage,
we prove (3.2). Assume first

I 8 8

i m(r, er) iy T, er) _
rae m(r, &) n-w m(r,, e’

In this case, we have m(r,, /)=1+o)m(r,, ef) (n—o0), and N(r,, a, f)=
A+o(L))m(r,, ef) (n— o). This implies that

— N, a, ) _ )

;1%1% m(r, f) '
Next, assume that

— B

lim mr, e)

rag s €)

< oo
Let {z,} be all the roots of f=a with multiplicity=3. Then {z,} are the roots
of F'(z)=e"{ay’—p’e? 7} =0 with multiplicity=2. Here note that we may assume

m(r, ef)2 _
g M &)

If not, the above argument shows that 4=0. This implies f=—De" (D+0). In
this case, it is clear that (3.2) holds. Therefore we assume (3.4). This yields
m(r, e?N=Zm(r, ef)+m(r, e)+01)Z(3/2+0(1)m(r, ef) (r& E, r—co) and m(r, ef-7)
=m(r, ef)—m(r, e+01)=1/2—o(1)m(r, ef) (r& E, r— o). Hence we have
@14)  mlr, 7)) +mlr, B)=o(m(r, e)+m(r, e®)=o(m(r, 7)) (r&E, r— o0).
Noting (3.14), and applying the second fundamental theorem to G=ay’ —p’e?7,
we have

(A+oW)m(r, G)=N(r, 0, G)+N(r, o0, G)+N(r, 0, f'ef)+S(r, G),
which implies m(r, G)=1+o(1)N(r, 0, G)=1+o(1)N(, 0, G) (r& E, r— o). Hence

Ni(r, 0, G) _ . Nir, 0, G) _ . Nitr, 0, G) _,

lim = L=
2z mlr, G)  remom(r, €87 e m(r, ef)
Since m(r, f)=mr, ef)—mr, e)+O01)=1/2—o(1))m(r, ), we deduce

Ni(, 0, G) _

lim =0.

e m(r, f)

Thus we easily obtain

315) B, o, NZ5{NG, 0, P=Nitr, 0, O} = N(r, a, H—olm(r, 1)
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(re E, r—o0),
Substituting (3.15) into (3.3), (3.2) follows. This completes the proof of Lemma.

Proof of Theorem 2. By assumption, we have with two entire functions «
and B

(3.16) f=e'g, [f—l=ef(g—1).

(A) Suppose that ef=c (+0). If f has a zero, c=1. Hence f=g. If f has
no zeros and c+#1, we have f—cg=1—c (#0). Using a result of Niino and
Ozawa [5], we obtain 2=0d(0, f)-+0d(0, g)=<1, a contradiction.

(B) Suppose that ef~¢=c¢ (#0). If c=1, we have f=g. If ¢#1, we have

. f . _ed—c _1—ce?
(3.17) g— (l—C)f+C ’ f— l—C ’ g'— l_c

(r . a non-constant entire function).

Assume first that a=—c¢/(1—¢). Then E(a, k, g)=E(a, k, f)=¢(k=2). Hence
by (3.17) we deduce a=1/(1—c¢). So, we obtain —c¢/(1—c)=1/(1—c¢), i.e., c=—1.
Substituting this into (3.17), we deduce

3Dt ok

Assume next that a#—c/(1—c¢). In this case, f/=a has infinitely many simple
roots. Hence we have a=a/{a(l—c)+c} i.e, a=1, a contradiction.
(C) Suppose neither ef nor ¢f-“ are constants. In this case, we have by

(3.16)

IH

1—e? 1—ef
(3.18) f=1—a 8=1_ ¢

-a

Using our lemma to f, we have

— N(r, a, f)

(3.19) 1’1%‘2’ i, 7) >0.

Now, let {w,} be all the common roots of f=a and g=a. From (3.18) we
have e*@n=gf@w =1, Hence

f _,B (wn)(z wn)+
—(B (Wa)—a’(wa))(z— wn)—l—

This shows that {w,} are the roots of
(3.20) aa’(z)+(1—a)p’(z)=0.

Also let {z,} be all the roots of f=a with multiplicity =3. The argument in
the above lemma shows
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@321 N(r, {z.})=0(m(r, ) (r&E, r—o0).
If f has a zero, we have

8
*_Z‘_(f.’% >2.
rog m(r, €7°%)

This implies m(r, ef)=0(m(r, f)) and m(r, «’)+m(r, f')=o0(m(r, ef)) (r& E, r—oo).

Hence unless (3.20) is an identity, we combine (3.20) with (3.21) to deduce N(r, a, f)
o(m(r, f)) (r& E, r—o0), which contradicts (3.19). If (3.20) is an identity, we have

(3.22) BR)=a(B(z)—al(z))+C (C: a constant).

Since f—a is a non-constant entire function, it is easy to see that a is an
integer, and so, C is an integral multiple of 2zi. Further we note that a#0, 1, —1
by our assumptions.

If a=2, we have from (3.1) and (3.22) f=1+e¢?/2>=1+¢f-2, On the other hand,
g=fe *=e F2(1+ef)=1+e#2, Thus (f—1)g—1)=1. If a=3,

{ f=1+4ef-2+4 ... fe@-DE-D

g=l+e F-0f ... fp- @D
If a=-2,
fz_e—lal(ﬁ-a){l+eﬁ—a+ +e<xa|-1)(ﬁ—a>}
{ g=_eﬁ-a{1+eﬁ-a+ —I—e"“"”‘ﬁ‘“)} .
In these cases, f and g do not satisfy E(a, k, /)=FE(a, k, g). Finally we consider
the case that f has no zeros. It follows from (3.1) that

1—ef g
1—ef-=

(3.23) O —efatdppf=1,

(0 : a non-constant entire function), i.e.,

Using again the result due to Niino and Ozawa, we have ef-***=—1. Hence
f=e’=—e*F=—¢f On the other hand, g=fe *=—ef*=—¢f, Thus fg=l.
This can be occurred in the case of a=—1. This completes the proof of Theorem 2.

Remark 1. The proof of Theorem 3 are essentially contained by the above
proof. So, we omit the proof of Theorem 3.

Remark 2. Theorem 2 does not hold in the case of £=1. For instance, we
may put f=1+e"+e¥ and g=1+e7+e %, where 7 is a non-constant entire
function. Then if a=3/4, f—a=(e’+1/2)* and g—a=(e7+1/2)%.. This shows
that f=02g=0, f=12g=1 and E(q, 1, f/)=E(a, 1, g) (=¢), but it is clear that
f and g do not satisfy any relations (i)-(iv) in Theorem 2.

Remark 3. Combining Corollary 1 with the proof of Theorem 2, we have
the following result.
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THEOREM 2’. Let f and g be non-constant entirve functions satisfying the
followwng conditions (i)-(iii) ;

(1) Z{l—h_m N(T, Cy f)_
c#oo ;:EE m(r, f)

(ii) f=0=g=0, f=1=g=1,

(iii) There exist two distinct complex numbers a,, ay (#0, 1) such that
E(a., 1, f)=E(a,, 1, g) =1, 2).

Then f=g.

}>0,

4. Ozawa [7] has proved the following result.

THEOREM C. Let f and g be entire functions of finite non-integral order
such that f=02g=0 and f=1—g=1. Then f=g.

In this section, we shall prove the following results.

THEOREM 4. Let f and g be entire functions of non-integral order such that
f=02g=0. Further assume that there exist two distinct complex numbers ai, a
(#0) satisfying E(a,, k, f)=E(a,, k, g) =1, 2), where k 1s a positive integer
(22) or co. Then f=g.

THEOREM 5. Let f and g be entire functions of finite non-integral order
satisfying the following conditions (1)-(iii);
(i) f=0=2g=0,

(i) There exist two distinct complex numbers a,, a, (#0) such that E(a,, 1, f)
=E(a, 1, g),

(i) a0, f)+d(a,, f)+d(as, £)>0.
Then f=g.

First we remark that the condition (iii) of Theorem 5 cannot be dropped.
Example: f=cos (2)*'%, g=—f, a,=1, a,=—1. (n: an odd integer =3) Next we
remark that the assumption of non-integrity of o, cannot also be dropped. For
example, we may put f=e® and g=e¢* (a,=1, a,=—1).

The method of proof of the above two theorems is essentially the same, so
we shall prove only Theorem 5.

Proof of Theorem 5. By the assumption (i), we have with a polynomial «
4.1) f=e“g.
Non-integrity of p;, p, and (4.1) imply
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{4.2) pr=pg>dega (=p).

(A) Assume that p=1. Let {w,} be all the simple roots of f=a;. From
the condition (ii) we have a,=e¢*®nq,, i.e, e*¥m=1. Hence N(r, {wa})
=N(r, 1, e)=1A+o(1))m(r, e*)=0(r?). On the other hand, a well known theorem
of Borel yields py¢.ap »=ps>p. Thus @(a,, f)=1/2. Inthe same way we have
O(a,, f)=1/2. Here we use the condition (ii). If 6(0, £)>0, then (0, f)>0.
Hence O(a,, f)+6(a,, f)+6(0, f/)>1. This is impossible. If &(a,;, f)>0, the
above argument implies

R N, a,, f) 11— N, a; f)
Ola, H=1-lim— o =l—glim— =5

1 1
21"—2—(1—5(01, f))>§ .

Hence O(a,, f)+6(a,, f)>1. This is impossible.

(B) Assume that p=0. If we put e*=c (+0), f=cg. Suppose first that
E(a,, 1, )=E(a,, 1, g)#¢ for i=1 or 2. In this case we have ¢=1. Hence
f=g. Suppose next FE(a, 1, f)=E(a,, 1, g)=¢ for i=1,2. In this case, the
same argument as (A) derives a contradiction. This completes the proof of
Theorem 5.

REFERENCES

[1] BuoosNURMATH, S.S. and Gopalakrishna, H.S.; Uniqueness theorems for mero-
morphic functions; Math. Scand. 39 (1976), 125-130.

[2] Ebrei, A. and Fucus, W.H.J.; On the growth of meromorphic functions with
several deficient values; Trans. Amer. Math. Soc. 93 (1959), 292-328.

[3] Hayman, W.K.; Meromorphic functions; Oxford (1964).

(4] NeEvaNLINNA, R.; Le théoréme de Picard-Borel et la théorie des fonctions mero-
morphes, Gauthier Villars, Paris (1929).

{571 Nuno, K. axp Ozawa, M.; Deficiencies of an entire algebroid function, Kodai
Math. Sem, Pep. 22 (1970), 98-113.

[6] Oscoop, C.F.and Yang, C.C.; On the quotient of two integral functions, J. Math.
Anal. Appl. 54 (1976), no. 2. 408-418.

{77 Ozawa, M.; Unicity theorems for entire functions; J. d’Analyse Math. Vol. 30
(1976), 411-420.

[87] SHEA, D.F.; On the Valiron deficiencies of meromorphic functions of finite order,
Trans. Amer. Math. Soc. 24 (1966), 201-227.

DEPARTMENT OF MATHEMATICS,
Tokyo INSTITUTE OF TECHNOLOGY

Current Address

DEPARTMENT OF MATHEMATICS
DAIDO INSTITUTE OF TECHNOLOGY,
22-1 DAIDO-cHO, MINAMI-KU,
NaGoya, JAPAN








